Bid Tabulation Packet for Solicitation A2113967C1

Intersection Improvements at Sunrise Blvd and Satin Leaf Way/White Seahorse Way

Bid Designation: Public



Bid #A2113967C1 - Intersection Improvements at Sunrise Blvd and Satin Leaf Way/White Seahorse Way

Creation Date Feb 27, 2017 End Date Jul 26, 2017 2:00:00 PM EDT

Start Date Jun 29, 2017 8:55:58 AM EDT Awarded Date Not Yet Awarded

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
AGC Electric, Inc [Ad]	First Offer - \$25,000.00	1 / lump sum	\$25,000.00	Υ	Υ
Product Code: Agency Notes:			ode: submitted on this item exception. I could not fir		
AUM Construction I	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Midasco, LLC	First Offer - \$40,000.00	1 / lump sum	\$40,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$44,660.00	1 / lump sum	\$44,660.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Arc Electric, Inc.	First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

A2113967C101- 02 MAINTENANCE OF T	RAFFIC					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
AUM Construction	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
AGC Electric, Inc [Ad]	First Offer - \$19,800.00	1 / lump sum	\$19,800.00		Υ	
		Supplier Product Code: Supplier Notes:				
Midasco, LLC	First Offer - \$24,000.00	1 / lump sum	\$24,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Arc Electric, Inc.	First Offer - \$65,000.00	1 / lump sum	\$65,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$77,630.00	1 / lump sum	\$77,630.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

A2113967C101- 03 LITTER REMOVAL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Midasco, LLC	First Offer - \$100.00	0.4 / acre	\$40.00		Υ	
Product Code:	Supplier Product Code:					
		Supplier Notes:				

Page 3 of 25

AUM Construction	First Offer - \$100.00	0.4 / acre	\$40.00		Υ	
		Supplier Product Code: Supplier Notes:				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$100.00	0.4 / acre	\$40.00		Υ	
		Supplier Product Code: Supplier Notes:				
Arc Electric, Inc.	First Offer - \$8,000.00	0.4 / acre	\$3,200.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
AGC Electric, Inc [Ad]	First Offer - \$10,000.00	0.4 / acre	\$4,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

A2113967C101-04 CLEARING & GRUBE	BING					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
AUM Construction	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$6,740.00	1 / lump sum	\$6,740.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
AGC Electric, Inc [Ad]	First Offer - \$9,000.00	1 / lump sum	\$9,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Arc Electric, Inc.	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Midasco, LLC	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

A2113967C101- 05 OPTIONAL BASE, BA	SE GROUP 5					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
AGC Electric, Inc [Ad]	First Offer - \$40.00	31 / square yard	\$1,240.00		Υ	
		Supplier Product Co Supplier Notes:	ode:			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$60.00	31 / square yard	\$1,860.00		Υ	
		Supplier Product Code: Supplier Notes:				
AUM Construction	First Offer - \$100.00	31 / square yard	\$3,100.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Arc Electric, Inc.	First Offer - \$150.00	31 / square yard	\$4,650.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Midasco, LLC [■]	First Offer - \$200.00	31 / square yard	\$6,200.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

A2113967C101-06 MILLING EXIST ASPHALT PAVEMENT, 1 INCH AVG DEPTH							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Midasco, LLC [■]	First Offer - \$2.80	4508 / square yard	\$12,622.40		Υ		
Product Code:		Supplier Product Code:					

Exhibit	1
Page 4 of 2	5

Agency Notes:		Supplier Notes:				
WEEKLEY ASPHALT PAVING, INC	First Offer - \$3.00	4508 / square yard	\$13,524.00		Υ	
		Supplier Product Code: Supplier Notes:				
Arc Electric, Inc.	First Offer - \$3.50	4508 / square yard	\$15,778.00		Υ	
		Supplier Product Code: Supplier Notes:				
AUM Construction	First Offer - \$4.00	4508 / square yard	\$18,032.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
AGC Electric, Inc [Ad]	First Offer - \$7.00	4508 / square yard	\$31,556.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

A2113967C101- 07 SUPERPAVE ASPH. CONC., TRAFFIC C, PG76-22, PMA								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Midasco, LLC	First Offer - \$216.00	3.4 / ton	\$734.40		Υ			
		Supplier Product Code: Supplier Notes:						
Arc Electric, Inc.	First Offer - \$260.00	3.4 / ton	\$884.00		Υ			
		Supplier Product Code: Supplier Notes:						
AUM Construction	First Offer - \$300.00	3.4 / ton	\$1,020.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
AGC Electric, Inc [Ad]	First Offer - \$350.00	3.4 / ton	\$1,190.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$500.00	3.4 / ton	\$1,700.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

A2113967C101-08 ASPHALT CONCRETE FRICTION COURSE, TRAFFIC C, FC-9.5, PG 76-22, PMA								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$160.00	249.6 / ton	\$39,936.00		Υ			
		Supplier Product Co Supplier Notes:	ode:					
Arc Electric, Inc.	First Offer - \$170.00	249.6 / ton	\$42,432.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
AUM Construction	First Offer - \$200.00	249.6 / ton	\$49,920.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Midasco, LLC [■]	First Offer - \$216.00	249.6 / ton	\$53,913.60		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
AGC Electric, Inc [Ad]	First Offer - \$320.00	249.6 / ton	\$79,872.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

A2113967C101-09 CONCRETE CURB & GUTIER, TYPE F							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AUM Construction II	First Offer - \$20.00	321 / linear foot	\$6,420.00		Υ		

Page 5 of 25

		Supplier Product Code: Supplier Notes:				
Arc Electric, Inc.	First Offer - \$25.00	321 / linear foot	\$8,025.00		Υ	
		Supplier Product Code: Supplier Notes:				
AGC Electric, Inc [Ad]	First Offer - \$48.00	321 / linear foot	\$15,408.00		Υ	
		Supplier Product Code: Supplier Notes:				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$55.10	321 / linear foot	\$17,687.10		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Midasco, LLC [■]	First Offer - \$60.00	321 / linear foot	\$19,260.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

A2113967C101- 10 CONCRETE SIDEWA	LK AND DRIVEWAYS	S, 6 INCH THICK				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
AUM Construction	First Offer - \$50.00	56 / square yard	\$2,800.00		Υ	
		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Arc Electric, Inc.	First Offer - \$65.00	56 / square yard	\$3,640.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
AGC Electric, Inc [Ad]	First Offer - \$70.00	56 / square yard	\$3,920.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$173.70	56 / square yard	\$9,727.20		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Midasco, LLC	First Offer - \$250.00	56 / square yard	\$14,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

A2113967C101-11 DETECTABLE WARNINGS							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AUM Construction	First Offer - \$25.00	64 / square foot	\$1,600.00		Υ		
		Supplier Product Co Supplier Notes:	ode:				
AGC Electric, Inc [Ad]	First Offer - \$35.00	64 / square foot	\$2,240.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Arc Electric, Inc.	First Offer - \$35.00	64 / square foot	\$2,240.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$35.00	64 / square foot	\$2,240.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Midasco, LLC ^{II}	First Offer - \$65.00	64 / square foot	\$4,160.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

A2113967C101-12 PERFORMANCE TURF, SOD						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	

Page 6 of 25

Midasco, LLC	First Offer - \$10.00	4 / square yard	\$40.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$10.00	4 / square yard	\$40.00		Υ	
		Supplier Product Code: Supplier Notes:				
Arc Electric, Inc.	First Offer - \$25.00	4 / square yard	\$100.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
AGC Electric, Inc [Ad]	First Offer - \$30.00	4 / square yard	\$120.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
AUM Construction	First Offer - \$250.00	4 / square yard	\$1,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

A2113967C101- 13 CONDUIT, OPEN TRENCH							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Arc Electric, Inc.	First Offer - \$6.00	353 / linear foot	\$2,118.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$9.00	353 / linear foot	\$3,177.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
AUM Construction	First Offer - \$15.00	353 / linear foot	\$5,295.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Midasco, LLC	First Offer - \$17.00	353 / linear foot	\$6,001.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
AGC Electric, Inc [Ad]	First Offer - \$18.00	353 / linear foot	\$6,354.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

A2113967C101-14 CONDUIT, DIRECTIONAL BORE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$13.50	663 / linear foot	\$8,950.50		Υ		
		Supplier Product Co Supplier Notes:	ode:				
Arc Electric, Inc.	First Offer - \$20.00	663 / linear foot	\$13,260.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
AGC Electric, Inc [Ad]	First Offer - \$24.00	663 / linear foot	\$15,912.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Midasco, LLC	First Offer - \$27.00	663 / linear foot	\$17,901.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
AUM Construction	First Offer - \$30.00	663 / linear foot	\$19,890.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

A2113967C101- 15	SIGNAL CABLE, NEW OR RECONSTRUCTED INTERSECTION
-------------------------	---

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$3,582.00	1 / per intersection	\$3,582.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Arc Electric, Inc.	First Offer - \$4,800.00	1 / per intersection	\$4,800.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Midasco, LLC [■]	First Offer - \$7,000.00	1 / per intersection	\$7,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
AUM Construction	First Offer - \$10,000.00	1 / per intersection	\$10,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
AGC Electric, Inc [Ad]	First Offer - \$16,700.00	1 / per intersection	\$16,700.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

A2113967C101- 16 SIGNAL CABLE, REM	OVE (INTERSECTION	1)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
AUM Construction I	First Offer - \$250.00	1 / per intersection	\$250.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Midasco, LLC	First Offer - \$430.00	1 / per intersection	\$430.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Arc Electric, Inc.	First Offer - \$500.00	1 / per intersection	\$500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$778.50	1 / per intersection	\$778.50		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
AGC Electric, Inc [Ad]	First Offer - \$1,600.00	1 / per intersection	\$1,600.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

A2113967C101-17 FIBER OPTIC CONNECTION HARDWARE, PATCH PANEL - FIELD TERMINATED							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AUM Construction	First Offer - \$1,300.00	1 / each	\$1,300.00		Υ		
		Supplier Product C Supplier Notes:	ode:				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,665.00	1 / each	\$1,665.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Arc Electric, Inc.	First Offer - \$1,800.00	1 / each	\$1,800.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
AGC Electric, Inc [Ad]	First Offer - \$2,250.00	1 / each	\$2,250.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Midasco, LLC	First Offer - \$3,800.00	1 / each	\$3,800.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

Page 8 of 25

A2113967C101-18 SIGNALS COMMUNICATION CABLE - TWISTED PAIR CABLE						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Arc Electric, Inc.	First Offer - \$2.50	40 / linear foot	\$100.00		Υ	
		Supplier Product Co Supplier Notes:	ode:			
Midasco, LLC	First Offer - \$4.50	40 / linear foot	\$180.00		Υ	
		Supplier Product Code: Supplier Notes:				
AGC Electric, Inc [Ad]	First Offer - \$8.00	40 / linear foot	\$320.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$9.00	40 / linear foot	\$360.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
AUM Construction ^{II}	First Offer - \$30.00	40 / linear foot	\$1,200.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

A2113967C101- 19 PULL & SPLICE BOX, 13 INCH x 24 INCH COVER SIZE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
AGC Electric, Inc [Ad]	First Offer - \$490.00	27 / each	\$13,230.00		Υ				
		Supplier Product Co Supplier Notes:	ode:						
Arc Electric, Inc.	First Offer - \$500.00	27 / each	\$13,500.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$504.00	27 / each	\$13,608.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						
AUM Construction	First Offer - \$800.00	27 / each	\$21,600.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						
Midasco, LLC	First Offer - \$1,000.00	27 / each	\$27,000.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

A2113967C101-20 PULL & SPLICE BOX, 24 INCH X 36 INCH COVER SIZE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Arc Electric, Inc.	First Offer - \$1,300.00	1 / each	\$1,300.00		Υ				
		Supplier Product Co Supplier Notes:	ode:						
AGC Electric, Inc [Ad]	First Offer - \$1,450.00	1 / each	\$1,450.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,458.00	1 / each	\$1,458.00		Υ				
Product Code: Agency Notes:	Supp		Supplier Product Code: Supplier Notes:						
AUM Construction	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
Midasco, LLC	First Offer - \$1,550.00	1 / each	\$1,550.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

A2113967C101-21 ELECTRICAL POWER SERVICE, UNDERGROUND, METER FURNISHED BY POWER COMPANY								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Arc Electric, Inc.	First Offer - \$1,500.00	1 / assembly	\$1,500.00		Υ			
		Supplier Product Co Supplier Notes:	ode:					
AUM Construction	First Offer - \$1,500.00	1 / assembly	\$1,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Midasco, LLC	First Offer - \$2,197.48	1 / assembly	\$2,197.48		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
AGC Electric, Inc [Ad]	First Offer - \$2,800.00	1 / assembly	\$2,800.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
WEEKLEY ASPHALT PAVING, INC. ■	First Offer - \$3,501.00	1 / assembly	\$3,501.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

A2113967C101-22 ELECTRICAL SERVICE	WIRE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Arc Electric, Inc.	First Offer - \$2.50	335 / linear foot	\$837.50		Υ	
		Supplier Product Co Supplier Notes:	ode:			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$4.68	335 / linear foot	\$1,567.80		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Midasco, LLC [■]	First Offer - \$5.00	335 / linear foot	\$1,675.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
AUM Construction	First Offer - \$5.00	335 / linear foot	\$1,675.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		ode:			
AGC Electric, Inc [Ad]	First Offer - \$6.00	335 / linear foot	\$2,010.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

A2113967C101-23 ELECTRICAL SERVICE	E DISCONNECT, POI	_E MOUNT			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Midasco, LLC ^{II}	First Offer - \$715.00	1 / each	\$715.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	t Code:		
AGC Electric, Inc [Ad]	First Offer - \$750.00	1 / each	\$750.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$805.50	1 / each	\$805.50		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
AUM Construction	First Offer - \$1,000.00	1 / each	\$1,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Arc Electric, Inc.	First Offer - \$1,850.00	1 / each	\$1,850.00		Υ
Product Code:		Supplier Product C	ode:		

Agency Notes: Supplier Notes:

A2113967C101-24 PRESTRESSED CONCRETE POLE, TYPE II SERVICE POLE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC. ■	First Offer - \$1,152.00	2 / each	\$2,304.00		Υ				
		Supplier Product Code: Supplier Notes:							
Arc Electric, Inc.	First Offer - \$1,200.00	2 / each	\$2,400.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:							
Midasco, LLC	First Offer - \$1,300.00	2 / each	\$2,600.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
AGC Electric, Inc [Ad]	First Offer - \$1,480.00	2 / each	\$2,960.00		Υ				
Product Code: Agency Notes:	roduct Code: Supplier Product Code:		ode:						
AUM Construction	First Offer - \$2,000.00	2 / each	\$4,000.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

A2113967C101-25 PRESTRESSED CONCRETE POLE, SHALLOW POLE REMOVAL (POLE 30 FEET AND GREATER)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
AUM Construction	First Offer - \$500.00	4 / each	\$2,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
AGC Electric, Inc [Ad]	First Offer - \$2,000.00	4 / each	\$8,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Midasco, LLC	First Offer - \$2,104.13	4 / each	\$8,416.52		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$2,430.00	4 / each	\$9,720.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Arc Electric, Inc.	First Offer - \$2,500.00	4 / each	\$10,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

A2113967C101- 26 ALUMINUM SIGNALS	S POLE, PEDESTAL				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$805.50	8 / each	\$6,444.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Midasco, LLC	First Offer - \$950.00	8 / each	\$7,600.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Arc Electric, Inc.	First Offer - \$1,000.00	8 / each	\$8,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
AGC Electric, Inc [Ad]	First Offer - \$1,180.00	8 / each	\$9,440.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
AUM Construction	First Offer - \$1,200.00	8 / each	\$9,600.00		Y

Page 11 of 25

Product Code:
Agency Notes:
Supplier Product Code:
Supplier Notes:

A2113967C101-27 MAST ARM, WIND SPEED - 150, SINGLE ARM, W/O LUMINAIRE-78									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC. ■	First Offer - \$38,700.00	2 / each	\$77,400.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						
AGC Electric, Inc [Ad]	First Offer - \$42,000.00	2 / each	\$84,000.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						
Arc Electric, Inc.	First Offer - \$45,000.00	2 / each	\$90,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Midasco, LLC	First Offer - \$47,000.00	2 / each	\$94,000.00		Y				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						
AUM Construction	First Offer - \$49,500.00	2 / each	\$99,000.00		Y				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

A2113967C101- 28 MAST ARM						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$14,850.00	2 / each	\$29,700.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Arc Electric, Inc.	First Offer - \$17,500.00	2 / each	\$35,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
AGC Electric, Inc [Ad]	First Offer - \$19,850.00	2 / each	\$39,700.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Midasco, LLC	First Offer - \$24,000.00	2 / each	\$48,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
AUM Construction	First Offer - \$24,000.00	2 / each	\$48,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

A2113967C101-29 TRAFFIC SIGNAL, AI	LUMINUM, 3 SECTION	N, 1 WAY			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$828.00	17 / assembly	\$14,076.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Midasco, LLC	First Offer - \$900.00	17 / assembly	\$15,300.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Arc Electric, Inc.	First Offer - \$900.00	17 / assembly	\$15,300.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
AGC Electric, Inc [Ad]	First Offer - \$1,100.00	17 / assembly	\$18,700.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

AUM Construction	First Offer - \$1,300.00	17 / assembly	\$22,100.00	Υ
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		

A2113967C101-30 PEDESTRIAN SIGNAL, LED COUNTDOWN, 1 WAY									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
AGC Electric, Inc [Ad]	First Offer - \$580.00	8 / assembly	\$4,640.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
Midasco, LLC	First Offer - \$700.00	8 / assembly	\$5,600.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$756.00	8 / assembly	\$6,048.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Arc Electric, Inc.	First Offer - \$800.00	8 / assembly	\$6,400.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
AUM Construction	First Offer - \$900.00	8 / assembly	\$7,200.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

A2113967C101-31 VEHICLE DETECTION SYSTEM- VIDEO, CABINET EQUIPMENT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction	First Offer - \$10,000.00	1 / each	\$10,000.00		Υ			
		Supplier Product Code: Supplier Notes:						
AGC Electric, Inc [Ad]	First Offer - \$10,500.00	1 / each	\$10,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$11,070.00	1 / each	\$11,070.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Arc Electric, Inc.	First Offer - \$12,000.00	1 / each	\$12,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Midasco, LLC [■]	First Offer - \$17,000.00	1 / each	\$17,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

A2113967C101-32 VEHICLE DETECTION SYSTEM- VIDEO, ABOVE GROUND EQUIPMENT									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
AUM Construction	First Offer - \$2,500.00	6 / each	\$15,000.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						
Arc Electric, Inc.	First Offer - \$3,000.00	6 / each	\$18,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$3,105.00	6 / each	\$18,630.00		Υ				
		Supplier Product C Supplier Notes:	ode:						
Midasco, LLC	First Offer - \$3,400.00	6 / each	\$20,400.00		Υ				

Product Code:
Agency Notes:

AGC Electric, Inc [Ad]

Product Code:
Supplier Notes:

AGC Electric Inc [Ad]

Product Code:
Supplier Product Code:
Supplier Product Code:
Supplier Product Code:
Supplier Notes:

A2113967C101-33 SIGNAL PRIORITY AND PREEMPTION SYSTEM, GPS, COMPLETE SYSTEM								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction	First Offer - \$7,000.00	1 / each	\$7,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
AGC Electric, Inc [Ad]	First Offer - \$8,500.00	1 / each	\$8,500.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
Midasco, LLC [■]	First Offer - \$9,000.00	1 / each	\$9,000.00		Y			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
Arc Electric, Inc.	First Offer - \$10,000.00	1 / each	\$10,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$11,520.00	1 / each	\$11,520.00		Y			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

A2113967C101-34 PEDESTRIAN DETECTOR, AUDIBLE/TACTILE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$288.00	8 / each	\$2,304.00		Υ			
		Supplier Product C Supplier Notes:	ode:					
Midasco, LLC	First Offer - \$1,200.00	8 / each	\$9,600.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Arc Electric, Inc.	First Offer - \$2,200.00	8 / each	\$17,600.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
AUM Construction	First Offer - \$2,200.00	8 / each	\$17,600.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
AGC Electric, Inc [Ad]	First Offer - \$2,800.00	8 / each	\$22,400.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

A2113967C101-35 TRAFFIC CONTROLLER ASSEMBLY, MODEL 2070, 1 PREEMPTION, W/16 CHANNEL CONFLICT MON									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$25,650.00	1 / assembly	\$25,650.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Arc Electric, Inc.	First Offer - \$27,500.00	1 / assembly	\$27,500.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
AGC Electric, Inc [Ad]	First Offer - \$27,800.00	1 / assembly	\$27,800.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

Midasco, LLC	First Offer - \$28,000.00	1 / assembly	\$28,000.00	Υ	Page 14 of 25
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
AUM Construction	First Offer - \$30,000.00	1 / assembly	\$30,000.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

A2113967C101-36 TRAFFIC CONTROLLER ASSEMBLY, REMOVE CONTROLLER WITH CABINET									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
AUM Construction	First Offer - \$250.00	1 / assembly	\$250.00		Υ				
		Supplier Product Co Supplier Notes:	ode:						
WEEKLEY ASPHALT PAVING, INC. ■	First Offer - \$504.00	1 / assembly	\$504.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Arc Electric, Inc.	First Offer - \$550.00	1 / assembly	\$550.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Midasco, LLC	First Offer - \$600.00	1 / assembly	\$600.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
AGC Electric, Inc [Ad]	First Offer - \$780.00	1 / assembly	\$780.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

A2113967C101-37 MANAGED FIELD ETHERNET SWITCH, FURNISH AND INSTALL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
AUM Construction	First Offer - \$2,000.00	1 / each	\$2,000.00		Υ				
		Supplier Product Co Supplier Notes:	ode:						
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$2,898.00	1 / each	\$2,898.00		Υ				
Product Code: Agency Notes:	• • •		Supplier Product Code: Supplier Notes:						
Arc Electric, Inc.	First Offer - \$3,000.00	1 / each	\$3,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Midasco, LLC	First Offer - \$3,200.00	1 / each	\$3,200.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
AGC Electric, Inc [Ad]	First Offer - \$3,642.00	1 / each	\$3,642.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

A2113967C101-38 WIRELESS COMMUNICATION DEVICE, ETHERNET ACCESS POINT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Midasco, LLC	First Offer - \$800.00	1 / each	\$800.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				
Arc Electric, Inc.	First Offer - \$800.00	1 / each	\$800.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
AUM Construction ^{II}	First Offer - \$1,000.00	1 / each	\$1,000.00		Υ		

Exhibit 1 Page 15 of 25

	•			
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		
AGC Electric, Inc [Ad]	First Offer - \$2,600.00	1 / each	\$2,600.00	Υ
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$7,740.00	1 / each	\$7,740.00	Υ
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		

A2113967C101-39 SINGLE POST SIGN, GROUND MOUNT, UP TO 12 SQUARE FEET									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC	First Offer - \$300.00	1 / assembly	\$300.00		Υ				
		Supplier Product Code: Supplier Notes:							
Midasco, LLC	First Offer - \$450.00	1 / assembly	\$450.00		Υ				
Product Code: Agency Notes:									
AGC Electric, Inc [Ad]	First Offer - \$500.00	1 / assembly	\$500.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
AUM Construction I	First Offer - \$500.00	1 / assembly	\$500.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
Arc Electric, Inc.	First Offer - \$600.00	1 / assembly	\$600.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

A2113967C101- 40 SINGLE POST SIGN.	REMOVE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
AUM Construction I	First Offer - \$10.00	2 / assembly	\$20.00		Υ
		Supplier Product Code: Supplier Notes:			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$30.00	2 / assembly	\$60.00		Υ
		Supplier Product Code: Supplier Notes:			
Midasco, LLC	First Offer - \$35.00	2 / assembly	\$70.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
AGC Electric, Inc [Ad]	First Offer - \$40.00	2 / assembly	\$80.00		Υ
		Supplier Product Code: Supplier Notes:			
Arc Electric, Inc.	First Offer - \$250.00	2 / assembly	\$500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

A2113967C101-41 INTERNALLY ILLUMINATED SIGN, OVERHEAD MOUNT, 12-18 SQUARE FEET							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AGC Electric, Inc [Ad]	First Offer - \$2,170.00	4 / each	\$8,680.00		Υ		
		Supplier Product Code: Supplier Notes:					
Arc Electric, Inc.	First Offer - \$2,500.00	4 / each	\$10,000.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

Midasco, LLC	First Offer - \$2,700.00	4 / each	\$10,800.00	Y	Page 16 of 25
Product Code: Agency Notes:		Supplier Product C Supplier Notes:			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$2,880.00	4 / each	\$11,520.00	Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:			
AUM Construction	First Offer - \$3,250.00	4 / each	\$13,000.00	Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

A2113967C101- 42 RETRO- REFLECTIVE	DAVEMENT MARK	ERS WHITE-RED				
Supplier	Unit Price					
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$3.00	32 / each	\$96.00		Υ	
		Supplier Product Code: Supplier Notes:				
AUM Construction	First Offer - \$4.50	32 / each	\$144.00		Υ	
		Supplier Product Code: Supplier Notes:				
Arc Electric, Inc.	First Offer - \$5.00	32 / each	\$160.00		Υ	
		Supplier Product Code: Supplier Notes:				
Midasco, LLC	First Offer - \$7.50	32 / each	\$240.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
AGC Electric, Inc [Ad]	First Offer - \$8.00	32 / each	\$256.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			

A2113967C101-43 RETRO-REFLECTIVE PAVEMENT MARKERS, YELLOW-YELLOW								
Supplier	Unit Price	Qty/Unit Total Price Attch. Docs						
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$3.00	99 / each	\$297.00		Υ			
		Supplier Product Code: Supplier Notes:						
AUM Construction	First Offer - \$4.50	99 / each	\$445.50		Υ			
		Supplier Product Code: Supplier Notes:						
Arc Electric, Inc.	First Offer - \$5.00	99 / each	\$495.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
AGC Electric, Inc [Ad]	First Offer - \$6.00	99 / each	\$594.00		Υ			
		Supplier Product Code: Supplier Notes:						
Midasco, LLC ^{II}	First Offer - \$7.50	99 / each	\$742.50		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

A2113967C101-44 PAINTED PAVEMENT MARKINGS, WHITE, SOLID, 6 INCH							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Arc Electric, Inc.	First Offer - \$600.00	0.15 / gross	\$90.00		Υ		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,000.00	0.15 / gross	\$150.00		Υ		

	Ext	nibi	it	1
Page	17	of	2	5

A2113967C1

Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
AGC Electric, Inc [Ad]	First Offer - \$2,000.00	0.15 / gross	\$300.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Midasco, LLC ■	First Offer - \$2,630.00	0.15 / gross	\$394.50	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	·
AUM Construction	First Offer - \$5,500.00	0.15 / gross	\$825.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	

A2113967C101- 45 PAINTED PAVEMENT	. WVDKINGS /W/II.		SCMVI K VND BOTIND	ADOLIT 1	2 INCH	
Supplier	Qty/Unit	Total Price	Attch.	Docs		
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$0.40	932 / linear foot	\$372.80	Atton.	Y	
		Supplier Product Code: Supplier Notes:				
Midasco, LLC	First Offer - \$0.90	932 / linear foot	\$838.80		Υ	
		Supplier Product Code: Supplier Notes:				
AGC Electric, Inc [Ad]	First Offer - \$1.20	932 / linear foot	\$1,118.40		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
AUM Construction	First Offer - \$1.50	932 / linear foot	\$1,398.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Arc Electric, Inc.	First Offer - \$3.00	932 / linear foot	\$2,796.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

A2113967C101-46 PAINTED PAVEMENT MARKINGS, WHITE, SOLID FOR STOP LINE OR CROSSWALK, 24 INCH							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AGC Electric, Inc [Ad]	First Offer - \$1.60	239 / linear foot	\$382.40		Υ		
		Supplier Product Co Supplier Notes:	ode:				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1.60	239 / linear foot	\$382.40		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Midasco, LLC	First Offer - \$2.00	239 / linear foot	\$478.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
AUM Construction	First Offer - \$2.00	239 / linear foot	\$478.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Arc Electric, Inc.	First Offer - \$4.00	239 / linear foot	\$956.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

A2113967C101-47 PAINTED PAVEMENT MARKINGS, WHITE, SKIP, 10-30 SKIP, 6 INCH WIDE							
Supplier	Unit Price Qty/Unit Total Price Attch.				Docs		
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,000.00	0.01 / gross mile	\$10.00		Υ		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					

	,				
AUM Construction I	First Offer - \$1,500.00	0.01 / gross mile	\$15.00	Y	Page 18 of 25
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	·	
Midasco, LLC [■]	First Offer - \$1,990.00	0.01 / gross mile	\$19.90	Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	code:		
AGC Electric, Inc [Ad]	First Offer - \$2,000.00	0.01 / gross mile	\$20.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Arc Electric, Inc.	First Offer - \$15,000.00	0.01 / gross mile	\$150.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	code:		

A2113967C101-48 PAINTED PAVEMEN	T MARKINGS, WHITE,	2-4 DOTIED GUIDEL	INE/ 6-10 DOTTED E	EXTENSIO	N, 6
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Midasco, LLC	First Offer - \$990.00	0.09 / gross mile	\$89.10		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,000.00	0.09 / gross mile	\$90.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
AUM Construction	First Offer - \$1,500.00	0.09 / gross mile	\$135.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
AGC Electric, Inc [Ad]	First Offer - \$2,000.00	0.09 / gross mile	\$180.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Arc Electric, Inc.	First Offer - \$15,000.00	0.09 / gross mile	\$1,350.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

A2113967C101- 49 PAINTED PAVEMENT	MARKINGS, WHITE	E, ARROWS			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$30.00	12 / each	\$360.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Midasco, LLC	First Offer - \$35.00	12 / each	\$420.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
AGC Electric, Inc [Ad]	First Offer - \$50.00	12 / each	\$600.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
AUM Construction	First Offer - \$100.00	12 / each	\$1,200.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Arc Electric, Inc.	First Offer - \$350.00	12 / each	\$4,200.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

A2113967C101-50 PAINTED PAVEMEN	T MARKINGS, YELLO	W, SOLID, 6 INCH				
Supplier Unit Price Qty/Unit Total Price Attch. Docs						
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,000.00	0.06 / gross mile	\$60.00		Υ	
Product Code:		Supplier Product C	ode:			

Page 19 of 25

Agency Notes:		Supplier Notes:		
AUM Construction	First Offer - \$1,500.00	0.06 / gross mile	\$90.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
AGC Electric, Inc [Ad]	First Offer - \$2,000.00	0.06 / gross mile	\$120.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Midasco, LLC	First Offer - \$2,630.00	0.06 / gross mile	\$157.80	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Arc Electric, Inc.	First Offer - \$5,000.00	0.06 / gross mile	\$300.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	

A2113967C101- 51 PAINTED PAVEMENT	MARKINGS, YEL	LOW, SOLID FOR DIA	GONAL OR CHEVROI	N, 18 INCH	1
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
AGC Electric, Inc [Ad]	First Offer - \$1.20	16 / linear foot	\$19.20		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Midasco, LLC	First Offer - \$1.50	16 / linear foot	\$24.00		Υ
		Supplier Product Code: Supplier Notes:			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1.60	16 / linear foot	\$25.60		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
AUM Construction I	First Offer - \$2.75	16 / linear foot	\$44.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Arc Electric, Inc.	First Offer - \$4.00	16 / linear foot	\$64.00	·	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

A2113967C101- 52 PAINTED PAVEMENT	MARKINGS, YELL	OW, ISLAND NOSE			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Midasco, LLC	First Offer - \$2.00	80 / square foot	\$160.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$2.00	80 / square foot	\$160.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Arc Electric, Inc.	First Offer - \$2.50	80 / square foot	\$200.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
AUM Construction	First Offer - \$3.00	80 / square foot	\$240.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
AGC Electric, Inc [Ad]	First Offer - \$5.00	80 / square foot	\$400.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

A2113967C101- 53 THERMOPLASTIC, W	/HITE, SOLID, 12 IN	NCH FOR CROSSWAL	K AND ROUNDABOU	Т	
Supplier Unit Price Qty/Unit Total Price Attch.					Docs
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1.30	932 / linear foot	\$1,211.60		Υ

Page 20 of 25

Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
AUM Construction	First Offer - \$2.75	932 / linear foot	\$2,563.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	·
AGC Electric, Inc [Ad]	First Offer - \$3.00	932 / linear foot	\$2,796.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Arc Electric, Inc.	First Offer - \$3.15	932 / linear foot	\$2,935.80	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Midasco, LLC	First Offer - \$4.50	932 / linear foot	\$4,194.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	

ACCIDENCE AND THE PROPERTY OF	UUTE 0011D 041B	IOU FOR OTOR LINE	AND ODGGGGGGGG		
A2113967C101- 54 THERMOPLASTIC, W	HITE, SOLID, 24 II	NCH FOR STOP LINE	AND CROSSWALK		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$3.00	239 / linear foot	\$717.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
AUM Construction I	First Offer - \$3.25	239 / linear foot	\$776.75		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
AGC Electric, Inc [Ad]	First Offer - \$4.00	239 / linear foot	\$956.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Arc Electric, Inc.	First Offer - \$5.00	239 / linear foot	\$1,195.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Midasco, LLC	First Offer - \$9.00	239 / linear foot	\$2,151.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

A2113967C101- 55 THERMOPLASTIC, W	VHITE, 2-4 DOTIED GU	IDELINE/ 6-10 GAP	EXTENSION, 6 INCH		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,400.00	0.09 / gross mile	\$126.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
AUM Construction	First Offer - \$1,500.00	0.09 / gross mile	\$135.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
AGC Electric, Inc [Ad]	First Offer - \$3,000.00	0.09 / gross mile	\$270.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Midasco, LLC ■	First Offer - \$4,440.00	0.09 / gross mile	\$399.60		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Arc Electric, Inc.	First Offer - \$10,000.00	0.09 / gross mile	\$900.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

A2113967C101- 56 THERMOPLASTIC, W	HITE, ARROW				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

	ocurry o	01111111001011010			
Arc Electric, Inc.	First Offer - \$50.00	12 / each	\$600.00	Υ	Page 21
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$80.00	12 / each	\$960.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
AUM Construction	First Offer - \$100.00	12 / each	\$1,200.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Midasco, LLC	First Offer - \$105.00	12 / each	\$1,260.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
AGC Electric, Inc [Ad]	First Offer - \$120.00	12 / each	\$1,440.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

A2113967C101- 57 THERMOPLASTIC, Y	ELLOW, SOLID, 18	INCH FOR DIAGONA	L OR CHEVRON		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$2.00	16 / linear foot	\$32.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
AUM Construction	First Offer - \$3.00	16 / linear foot	\$48.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
AGC Electric, Inc [Ad]	First Offer - \$3.50	16 / linear foot	\$56.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Arc Electric, Inc.	First Offer - \$5.00	16 / linear foot	\$80.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Midasco, LLC	First Offer - \$6.50	16 / linear foot	\$104.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

A2113967C101-58 THERMOPLASTIC, WHITE, SOLID, 6 INCH						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$3,500.00	0.15 / gross mile	\$525.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Arc Electric, Inc.	First Offer - \$5,000.00	0.15 / gross mile	\$750.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
AUM Construction	First Offer - \$5,500.00	0.15 / gross mile	\$825.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
AGC Electric, Inc [Ad]	First Offer - \$6,000.00	0.15 / gross mile	\$900.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Midasco, LLC [■]	First Offer - \$11,500.00	0.15 / gross mile	\$1,725.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

|--|

Exhibit 1 Page 22 of 25

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,000.00	0.01 / gross mile	\$10.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Arc Electric, Inc.	First Offer - \$1,500.00	0.01 / gross mile	\$15.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
AUM Construction	First Offer - \$1,500.00	0.01 / gross mile	\$15.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Midasco, LLC	First Offer - \$2,960.00	0.01 / gross mile	\$29.60		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
AGC Electric, Inc [Ad]	First Offer - \$8,000.00	0.01 / gross mile	\$80.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

A2113967C101-60 THERMOPLASTIC, YELLOW, SOLID, 6 INCH						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
AUM Construction	First Offer - \$1,500.00	0.06 / gross mile	\$90.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$3,500.00	0.06 / gross mile	\$210.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Arc Electric, Inc.	First Offer - \$5,000.00	0.06 / gross mile	\$300.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
AGC Electric, Inc [Ad]	First Offer - \$6,000.00	0.06 / gross mile	\$360.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Midasco, LLC	First Offer - \$11,500.00	0.06 / gross mile	\$690.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

A2113967C101-61 THERMOPLASTIC, REMOVE EXISTING THERMOPLASTIC PAVEMENT MARKINGS					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
AUM Construction I	First Offer - \$3.00	32 / square foot	\$96.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$4.15	32 / square foot	\$132.80		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
AGC Electric, Inc [Ad]	First Offer - \$5.00	32 / square foot	\$160.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Arc Electric, Inc.	First Offer - \$5.00	32 / square foot	\$160.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Midasco, LLC [■]	First Offer - \$92.00	32 / square foot	\$2,944.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

| Page 23 of 25

A2113967C101-62 TEMPORARY MULTI-POST SIGN, GROUND MOUNT, 21-30 SF					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
AGC Electric, Inc [Ad]	First Offer - \$1,200.00	1 / assembly	\$1,200.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
AUM Construction	First Offer - \$1,500.00	1 / assembly	\$1,500.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Midasco, LLC	First Offer - \$2,900.00	1 / assembly	\$2,900.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$3,400.00	1 / assembly	\$3,400.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Arc Electric, Inc.	First Offer - \$4,000.00	1 / assembly	\$4,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

A2113967C101-63 AUDIO-VISUAL PRE-CONSTRUCTION AND POST CONSTRUCTION RECORDS						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
AUM Construction I	First Offer - \$360.10	1 / lump sum	\$360.10		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$800.00	1 / lump sum	\$800.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Arc Electric, Inc.	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Midasco, LLC	First Offer - \$1,900.00	1 / lump sum	\$1,900.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
AGC Electric, Inc [Ad]	First Offer - \$6,000.00	1 / lump sum	\$6,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Control Supplier Notes:	ode:			

A2113967C101-64 PREMIUM FOR INSURANCE AND BONDS					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$6,820.00	1 / lump sum	\$6,820.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
AUM Construction	First Offer - \$8,000.00	1 / lump sum	\$8,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Midasco, LLC	First Offer - \$10,000.00	1 / lump sum	\$10,000.00	Υ	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
AGC Electric, Inc [Ad]	First Offer - \$14,980.00	1 / lump sum	\$14,980.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Arc Electric, Inc.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

Supplier Tota	als		
f AUM Cons	struction	\$503,035.35 (64/64 items)	
Bid Contact	Patricia Gonzalez aumconstruction@outlook.com Ph 954-544-2656	Address 6011 Rodman Street Suite 208 Hollywood, FL 33023	
Qualifications			
Bid Bond	(Status: Authorized on Jul 25, 2017)		
Agency Notes	s:	Supplier Notes:	Head Attch:
Bid Allowance			\$10,000.0
f WEEKLEY	ASPHALT PAVING, INC.	\$510,073.80 (64/64 item	s)
P	une Stone Ine@weekleyasp.com h 954-680-8005 ax 954-680-8671	Address 20701 STIRLING RD PEMBROKE PINES, FL 33332	
Bid Bond	(Status: Authorized on Jul 19, 2017)		
Agency Notes	s:	Supplier Notes:	Head Attch:
Bid Allowance			\$10,000.0
f Arc Electri	c, Inc.	\$558,361.30 (64/64 items)	
Bid Contact	Omar McFarlane omcfarlane@arcelectricfl.com Ph 954-583-9800 Fax 954-583-9807	Address 3330 SW 46th Avenue Davie, FL 33314	
Qualifications	DBE SB		
Agency Notes	s:	Supplier Notes:	Head Attch
Bid Allowance			\$10,000.0
f AGC Electi	ric, Inc [Ad]	\$568,332.00 (64/64 i	tems)
Bid Contact	Tomas Curbelo agc@agcelectric.com Ph 305-823-2280	Address 2660 W 79 ST Hialeah, FL 33016	
Supplier Code	VS0000003954		
Qualifications	MBE SB		
Bid Notes	Paper Bind bond was submitted to Brow attached in mobilization item	rard County Purchasing Division. Copy subm	nitted
Agency Notes	s:	Supplier Notes: Paper Bind bond was submitted to Broward C Purchasing Division. Copy submitted attached mobilization item	
Bid Allowance			\$10,000.0
f Midasco, L	10	\$576,718.20 (64/64 items)	

A2113967C1

Exhibit 1

Bid Contact Dennis Goldberger Address 7121 Dorsey Run Rd

dgoldberger@midasco.net Elkridge, MD 21075

Ph 410-579-6711

Bid Bond (Status: Authorized on Jul 26, 2017)

Agency Notes: Supplier Notes: Head Attch:

 Bid
 \$10,000.00

 Allowance
 \$10,000.00

__